WEWERR 2 —HRERRETY V7—MER

i WEWERREU2—HRE
FTER SERRALER
fEEEEE #HEEILEAKFHttEEIGES
HAR SH5E10A5H(K)~108178 (A) 13 HFE
Hik WERFBE~DT7r— T
EEF: 100 A
i3 M EE RN
5] Bi l E]
38 62 0
-~ 60RERE| 60REfE | 70 |SOmULLE| |EIE
o 1 13 47 39 0
_, o P N B4
MHT | EIzgE | Alz&E | Bz pElz2, 3| =, A
ESERRIESR |FIREE i D
0 0 52 3 29 16 0
. 5 BEEE |(N\(4-H| R | FOM | EEE
RBFE
18 17 60 4 1 0
NN B =.H55 8 3 i Za %
S NS | BEEH| g=-057 [BERE |(#Eeox K28 ZF Dt ]
13 9 68 26 16 4 6 0
[ £ {RET{)

A3 Tor—MER

2EKMIZTEVFHEAFERULEZHHTHY, #HGELTRENL
BEOSWNEREIZ LA =ERHbNS,
FEETETFON-HEAPLELICONTE, BEEEEBLEBEDSIZFHLTNETLY,

EMNMAAT= FWICBE DK FTETHRWMTRLDEIEH89% EFHEA S <F




CERIEESD

0%
0%

1 BEEROERE FRKR

BETHRL
mRW
nERE
oOEL
O&ETHEW
OEEZE

(E2Ae:::))|

A3 Tor—MER

Riyvm

CARY

0%
0%

2 BEA O

0%

mETHRL
=R
nEE
Al
ETHEWL
BEZE

(E2Ae:::))|

RLR
cHIES A

HNREDESANETLRIVATERMNELL

CARY




3 FHOHRAFOFHEDLPLTS

0% 0% —_ 0%

BETHRWL

R

nEE

F: A
ETHEL
EEE

(E2Ae:::))|

A3 Tor—MER

Rlyvm

ARy =

n°en NN

4 ARVMOY—ERDHRE

0%

mETHRWL

R

nEE

mEL
ETHELL
SMLIzZEMRLY
EEZE

0%
0% 14%

(E2Ae:::))|

Rlyvm

ARy =

n°en NN




5 RiF-fEROELNPTS

2% \0% 0%

mETHRWL

=R

nER
Bl
ETHEN
EEE

(FA2E)

A3 Tor—MER

RWR
REREILETHRICRINERES

CARY
‘rLUDEFEL
RHMBFERML, BEEREYBATIEES> D

6 FERADEART

0%

mETEhMYRT
BhHMHYPT
mEE

mHMY D50
oETEHhMYISL
O #EEZE

(FA2E)

Riyvm

CARY




2%

2%

7

9%

FERBOABHEE

5% 0%

mF AL
mE(HE
= BIz#(E
wEIZ1[E
sBlz2, 3[E
Blz4mE L E
RS

(E2Ae:::))|

A3 Tor—MER

Rlyvm

ARy =

n°en NN

1%

8 MRDmREE

0% _—1%

BETLERE
miER
nEE
OARER
OETHERFER
IR

(E2Ae:::))|

Rlyvm

E\H

.

‘EYOHENDELRELSD




A3 Tor—MER

_ [X41ER)
9 MExDBF A BUOVE
0%O%/_l%

mZ2IEFAL=L

m B AL

nERE EARYS
FIFL =<
et A L =AU
[

(2Dt BEBER]
(2Z]

-FIABRZERILTELLM=0Y

BEBEEERA DT, 3oERLGBETEAEIICLTIELL, HIZIEX, TLELSWLEAFIFTIELLY
BREBEOTH—%EHBELTIZLL

EIHIGAR—ZANESIDLHDHER

EFEIGA A EMLTIELLY

NSFA T DEEEZRILTIZLLY

RENICEYDOHEZFOLEELHHIEES, RELARIEOHEBIEEALTIIESH,

(ZDihER - BFEE]
" RAEFVEOASITHEREICEVODTER
EEESA DO (EEWD)




